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Human and Social Biology
Paper 02

Question 4

This question is based on the topic “Life Processes”. Parts (a) (ii) and (iii) came from
Objective 2.2 which relates the structures of the respiratory tract to their functions.

Parts (b) (i), (ii) (iii) and (iv) are based on Objective 2.8 which differentiates between aerobic
and anaerobic respiration and (b) (v) is based on Objective 2.11 which explains the effects of
cigarette smoking.

This response received full marks because in Parts (a) (i) and (ii). the candidate properly
labelled the parts of the respiratory system and could identify the movements involved in
breathing in.

In Part (b) (i), the candidate clearly differentiated between aerobic and anaerobic respiration
and could identify the circumstances under which each took place.

In Part (b) (ii), the candidate associated the functions of the heart in relation to oxygen and
energy supply.

Part (b) (iii) required that the candidate identify lactic acid which causes pain as a product of
anaerobic respiration.

In Part (b) (iv), the candidate related a need for more oxygen to restore oxygen and lactic
levels to normal,

Finally, in Part (b) (v), the candidate was able to link reduced lung capacity to the effects of
cigarette smoking.


